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QUESTION 1
Scenario: A company has one XenApp farm and two Web Interface servers configured with explicit authentication.
Users trying to take advantage of the Smooth Roaming feature by moving between client devices, complain about

inconsistent behavior.

In order to address this behavior, the administrator should ensure . (Choose the correct option to complete
the sentence.)

A. that both Web Interface servers are upgraded to the same version

B. that both Web Interface servers are joined to the same domain as the XenApp farm

C. the Workspace Control settings are correct and identical on both Web Interface servers

D. the XenApp policy is configured to trust XML requests sent from both Web Interface servers

Correct Answer: C

QUESTION 2

Scenario: Users are receiving the error shown in the attached exhibit when connecting to Notepad on XenApp.

Applications Deskicps

'ﬂ An error occdrred while making the requested connection.

The administrator runs the QUERY FARM command on the server and receives the results shown in the second
attached exhibit.

Which three events could the server load value of 10,000 indicate? (Choose three.)

A. The server is offline.

B. The server CANNOT contact the Citrix license server.

C. The server has reached its limit of 10,000 running processes.

D. A server load evaluator applied by policy indicates the server is at full load.

E. The particular server has a problem reading performance counter information.

F. The administrator has assigned an invalid load evaluator to the server using a policy.

Correct Answer: DEF

QUESTION 3
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Scenario: A company has 20 machines and 20 users. The 20 users are split into two shifts so that only 10 people are
connected to the XenApp 6.5 farm at any one time. Now, a third shift of 10 new users is being added.

In order to ensure that the 10 new users can get connected to XenApp 6.5, the administrator must purchase and install
10 additional . (Choose the correct option to complete the sentence.)

A. client machines

B. XenApp 6.5 concurrent licenses

C. Microsoft Remote Desktop Services user client access licenses

D. Microsoft Remote Desktop Services machine client access licenses

Correct Answer: C

QUESTION 4
Scenario: Users are receiving the error shown in the attached exhibit when connecting to Notepad on XenApp.

The administrator runs the QUERY FARM command on the server and receives results in the second attached exhibit.

Applications Deskicps

'ﬂ An error occdrred while making the requested connection.

Which configuration component is causing the high application load?
A. An Active Directory group policy

B. A load balancing preference policy

C. A load evaluator applied to the server

D. A load evaluator applied to the application

Correct Answer: D

QUESTION 5

Scenario: A XenApp administrator must recommend a database option for a new XenApp 6.5 data store. The new farm
will have multiple zones over WAN connections with low bandwidth and high latency.

Which two database options should the administrator recommend? (Choose two.)
A. Microsoft SQL Server 2008
B. Microsoft SQL Server 2008 R2

C. Microsoft SQL Server 2008 Express
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D. Microsoft SQL Server 2008 Express R2

Correct Answer: AB
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